HEHERS173)
Import numpy as np W E 54 75" Scikit-learn
from sklearn.linear_model import LinearRegression
from sklearn.model_selection import train_test_split
from sklearn.metrics import mean_squared_error
import pyplot as plt
%matplotlib inline
np.random.seed(100) W DOELFRICELZICEE
data_size = 100
X = np.random.randn(data_size) 1ZEEIER D HDELE
y = 5% X + 10 +|np.random.randn(data_size) | =2

A7~

fig = plt.figure()

ax = fig.add_subplot(1,1,1)
ax.scatter(X, y) &

ax.set title(u”x and y scatter plot”)
ax.set_xlabel("X")

ax.set_ylabel("y")
plt.show()
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X_train,X_test,y_train,y_tesF@ \ BHLLIE ¥ L, HITER

train_test_split(X,y,test_size=0.3,random_state=0) XEyDT—REIEEL-E|IETHE

print(" X _trian :”, X_train.shape) FERT -4 TFAN -4=7-3
print(" X test :”, X test.shape)
print("y trian :", y train.shape) BREDIFROASHARINGD ALY EEEH

print("y_test ;”, y_test.shape) (=)

Ir = LinearRegression() «—#&fzEllE

Ir fit(X_train.reshape(-1, 1), y train)

print(" 2" Ir.coef.) {tE=: [4.87800146]
print("t)] H':",lr_intercept_) 'U]H_ 9.880209243463511

y pred = Ir.predict(X test.reshape(-1, 1))
print( A& R ¥n', y_test[:5]) % :hI4: 2 [14.6040065 9.83994175 12.79186354 11.39130635 9.23670159]

print(& Z¥n’, y pred[:5]) % % [13.44602999 10.41128697 15.50471957 12.35730517 7.19382354]
print(hL—ZU T T—ADFEHFIGE ' ¥ . .

mean_squared_error(y train, NL—=27 T—’)"U)$_i’ﬂ%3',=&% : 1.050530750671141
Ir.predict(X_train.reshape(-1, 1)))) TANT—ADF25ERZE: 1.2382110791683136

printC 7 A b T — 23 DO F 3 2 & 32 &= :

mean_squared_error(y test, y pred))



[10.018]]
[[136. 7467638 ]
[179. 3086724 ]
[124.7939742 ]
[ 91.608693 ]
[ 99.06056946]
[211. 3147593 ]
[331.87715 ]
[407.3815 ]
[425.1095402 ]
]

(449. 1164546 ]]

rmse
R2 :

450

400 1
350 1
300 -
250 -
200
150 1
100 A

50.

rmse

R2

450
400 A
350 A
300 A
250 1
200 A
150 A

100 1

0 67.44116527130275
0. 7534254734665234

—y=a+ bx .

- 37.231982479228975
0.9248497551567119

y=a+ bx + byx* + b3x3

rmse
R2

500 1

400 A

300 A

200 A

100 A

rmse
R2

450

350 A

300 1

250 1

200 A

150 1

100 -

- 50.06437014920699 (jEEg;rEEEE
0.8641199837148785

RTE 1R

—y=a+ byx + byx* degree R?
’ 1 0.753
2 0.864
3 0.925
10 1.000
e * degree Z/LOD18PL, R2GE DEHIEZHERE

7 4  R25> 0.9 L1 B degree (2IEX) 1A

© 3. 635961863135608e-06

0. 9999999999999993 E 55 HY E é% '3 ?

10

ry=a+byx+ -+ byox —/

400 A




BREH=Y" (v — 7:)°

FRE

b — 94|

<FHILF=L B R

<TRILT=Ly

1=}

BB LS E LPUET

—HBREAMTR/NMNITHECD K%

274 hSESHAREMEN DY FET

i



BREHE=>" .0 — 71)°

EFEZHSCIOCDEZMAZS

n k
JySEE: BHAO-ROAHERLELD ny" - 9% + ﬂlzlwiz
n k
LASSOMR: BEAHDEFHERLELD D 0= 42 ol
=1 ]




)y Bl

from sklearn.linear model import Ridge AlphalE 1] 8| D E &

rg = Ridge(alphar0.3, random_state=1234)

rg.fit(X_train.reshape(—1, 1), y_train) Ridge(alpha=0.3, copy X=True, fit_intercept=True, max_iter=None,
normalize=False, random_state=1234, solver="auto’, tol=0.001)

print("fBE:" rg.coef ) {tEE: [4.85673346]

print" Y " rg.intercept) Y] F: 9.878280306770973

y_pred = rg.predict(X_test.reshape(-1, 1))

rint('" P RIFSEYn' v test[:5
br! (.z'-]%n,% ’ y_. [:3]) % 4 B [14.6040065 9.83994175 12.79186354 11.39130635 9.23670159]
print("& A ¥n', y_pred[:5]) %2 [13.42855414 10.40704254 15.47826787 12.34457614 7.20360719]

print(FL—=2 T T—ADFEHFTLE ¥
mean_squared_error(y_train,
rg.predict(X_train.reshape(-1, 1))))
print(‘"TACT—RDEBNRTEIRE ", FL——- 5 F—AOFHTLEE . 1050973435013048
mean_squared_error(y_test,y pred) TALT—HDOFH25FEISE 1.2311162936334716




LASSO[R])&F

from sklearn.linear model import Lasso
la = Lasso(alpha=0.3, random_state=1234)

la.fit(X train.reshape(—1, 1), y train) Ridge(alpha=0.3, copy X=True, fit_intercept=True, max_iter=None,
B B normalize=False, random_state=1234, solver="auto’, tol=0.001)
print("{tE=:" la.coef ) {E=: [4.85673346]

print("Y1 /" la.intercept ) I 9.878280306770973

y_pred = la.predict(X_test.reshape(-1, 1))

. | HI ‘:l: ! .
pr!nt( i"_‘lﬁ*ﬂ%éﬁn ,y_test[:5]) %3R5 R [14.6040065 9.83994175 12.79186354 11.39130635 9.23670159]
print('& A¥n', y _pred[:5]) % % [13.42855414 10.40704254 15.47826787 12.34457614 7.20360719]

print(FL—= 0 T—3ADFEHNFIRE " ¥
mean_squared_error(y_train,
la.predict(X_train.reshape(-1, 1))))

orint(FAFTF—ADFEH2TWE " FL—=UT T—AOFHFTEE 1.050973435013048
mean_squared_error(y_test, y_pred)) TART—32DFH25RE 1.2311162936334716




T REE

fta= Uha)

M-2005-8 | TR
oS 4.878 9.880 1.0505 1.2382
)yl 4.857 9.878 1.0510 1.2311
LASSO[E] )7 4.857 9.878 1.0510 1.2311
fig = plt.figure()
ax = fig.add_subplot(1,1,1) x and y scatter plot
ax.scatter(X test, y test) 01— :_r;earRegressnon
ax.set_title(u”x and y scatter plot”) A
ax.plot(X test, Ir.predict(X_test.reshape(-1, 1)), color = 'r, 15 1
linestyle="-", label="LinearRegression”)
ax.plot(X test, rg.predict(X test.reshape(-1, 1)), color = 'b’, , 10 1

linestyle="—", label="Ridge”)

ax.plot(X_test, la.predict(X test.reshape(-1, 1)), color =g/,
linestyle=":", label="Lasso”)

ax.set_xlabel("x”)

ax.set_ylabel("y”)
ax.legend(loc="best”) X
plt.show()



